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L. The yield of the water in Mm” from a catchment areq during each successive month of

AN vear ars given as .4, 2.1, 28, 8.4, 11.9,11.9, 7.7, 28,252,224, 196 and 1.68.
Determine the minimum capacity of the reservoir allowing the water to he drawn off
at a vnmiform rate assuming no loss of water over the spillway. |7) (CO1L3
2. A concrote gravity dam has a top width of' 7 m, a total h”eight of 90 m with 4 1 fer
board. fts upstream face is slanting 1:10 aftey a height of 26 m from top. The D/s fuce
is alse battered 0.7H:1V after a height of 10 m fom the fop. The horizontal and
vertical coetiicients of carthquake acceleration are given as 0.1 and 0.05 respectively,
The tail water depth is 6 n1. The sydrodyaamic force and moment comes out te o
3580 KN and 1.26,500 kN-m acting clockwise, Take upiidl cocfficient as 0.6, The
coefficient of friction 1g given as 0.7. Examine the stability of the section a: the base
and find out the poincipal and shear stress near the toe. [10] (C02,4,5)
3. Derive the expressions for major stresses for elementary protile of a gravity dam with
the help of proper force diagrams. [8] (CO4)
4. A homogenous earthen dam has a total height of embankment ¢ 14m and water depth
a8 12 m. The top width of the dam is 4 m. The u/s and g slepes aie 2,510 and 24
respeciively, It is provided with g drs filter of 28 m ength, The coeffivient of
pertmezbility is 8x10~m/seq, Determine tae phreatic line and the discharge through the

dam. [10] ’ (CO5)



